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1. Use the graph below to answer the following questions.

A Jim () x FS B lm f) ¢ - 35 o) limfe) pMNE

d Iimf@) g 0o O Imf@ % -5 ) limf@
2. Determine each of the limits algebraically.
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4, Provide a function with the following criteria: f(0) > 0, f(2) < 0, but there are no zeros in the interval
[0,2]. . .‘ s e
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5. Create an equation with the given characteristics. There are two separate problems here, so there
should be two different functions.

a) removable discontinuity at x = 3 and non-removable at x = -7, &S .
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6. Evaluate limg—ﬁg—)——x
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